BIOLOGY 2011

' Time: 30 Minutes Max. Marks: 15
SECTION “A” (MULTIPLE CHOICE QUESTIONS)

1. Choose the correct answer for each from
the given options: (15)
(i) Amoeba moves with the help of:

(a) Cilia (b) Pseudopodia (c) Flagella (d) Limbs
(ii) Cigarette-smoke containg---------------
(a) Nicotine (b) Tar (c) CO {:I} All of them
(iii) D.N.A is formed in_ =z------- .
(a) Nucleus (b) Chromosome
(c) Cell (d) Nucleoplasm
(iv) Who discovered cell, the basic unit of living organism:
(a) Galileo (b) Robert Hook
(c) William Harvey (d) Linnaeus
(v) Crocodile belongs to Class:
(a) Amphibian (b) Reptilian
(c) Aves (d) Mammalia
(vi) The study of microscopic organisms is called ------z=--» .
(a) Morphology (b) Cytology
(c) Microbiology (d) Embryology

(vii) The basic unit of classification is +-=s---=---.

(a) Phylum_ (b) Order (c) Class (d) Species

(viii) =------ -- is'an egg laying mammal.

(a). " Whale (b) Duck billed platypus
| (e)  Kangaroo (d) Bat
(ix) The seedis a ~--=====v-- :
(a) Ripened ovule (b) Ripened ovary
(c) Endosperm (d) Cotyledon

(x) The intelligent guess of a scientist in the form of
statement is called: (a) Deduction (b) Theory
(c) Hypothesis (d) Law

(xi) The fourth whorl of a flower is -----------,
(a) Androecium (b) Gynoecium
(c) Calyx (d) Corolla

(xii) Which of the following is a gill breathing animal?

(a) Frog (b) Fish (c) Whale (d) Turtle

(xiii) Tuberculosis is caused by: -

(a) Virus (b) Bacteria
(c) Worm (d) None of them
(xiv) Scurvy is caused by the deficiency of Vitamin -----------
(a) K (b) A (c) B (d C
(xv) Horse tails are the common name of ----------- .
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(a) Psilopsida (b) Lycopsida

(c) Sphenopsida (d) Pteropsida




